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2006(A) | 2007(B) |  (B-A) 20061 (D) | 20078(C) | (D-C)

T A A 94,828 96,219 1,391 1.47 260,989 260,562 427 0.2
=78 1,652 1,695 43 2.60 4,030 4,016 14 0.3
= 4 1,193 1,207 14 1.17 3,146 3,053 93 -3.0
2 & H 1,523 1,535 12 0.79 3,898 3,816 82 2.1
2o ™ 1,486 1,476 -10 -0.67 3,644 3,565 79 2.2
N =9 1,351 1,350 -1 -0.07 3,407 3,352 55 -1.6
CH OF & 2,892 2,861 —31 -1.07 7,210 6,942 268 3.7
HEH 1,520 1,540 20 1.32 4,147 4,107 40 -1.0
o 4 A 1,379 1,407 28 2.03 3,636 3,658 —22 0.6
Lt & ™ 1,201 1,200 -1 —0.08 2,893 2,831 62 2.1
=& H 1,665 1,686 21 1.26 4,448 4,390 58 -1.3
2 AN B 2,103 2,116 13 0.62 5,989 5,798 191 -3.2
of & = 1,997 1,982 -15 —-0.75 4,930 4,698 232 4.7
ER== 2,293 2,282 -11 —0.48 5,392 5,265 127 2.4
L ES 1,339 1,336 -3 —0.22 3,620 3,455 165 4.6
oS 3,795 3,680 -115 -3.03 10,481 10,026 455 4.3
o8 s = 2,244 2,243 -1 —0.04 5,642 5,527 115 2.0
o= 1,502 1,868 366 24.37 3,276 4,268 —992 30.3
ER = 2,318 2,267 —51 —2.20 5,321 5,086 235 4.4
s 0 = 2,231 2,038 -193 -8.65 5,384 4,660 724 -13.4
== 2,188 2,218 30 1.37 6,057 6,063 -6 0.1
T ES 5,500 5,504 4 0.07 15,410 15,198 212 -1.4
3 &= 3,926 3,984 58 1.48 10,069 9,845 224 2.2
== 2,294 2,231 —63 —2.75 6,946 6,698 248 -3.6
HE S 1,303 1,340 37 2.84 3,956 3,909 47 -1.2
=35 = 5,497 6,155 658 11.97 17,285 19,262 -1,977 11.4
L2 1= 6,078 6,052 —26 —0.43 17,729 17,339 390 2.2
L2 2= 8,579 8,528 51 -0.59 26,455 25,857 598 2.3
L2 3= 11,920 12,495 575 4.82 34,736 36,290 -1,554 4.5
~E S 6,528 6,573 45 0.69 18,626 18,493 133 0.7
0 &4 = 5,331 5,370 39 0.73 13,226 13,095 131 -1.0




